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(2) Show correct number of question in the answer book.

(1) Explain : Effect of common ion on solubility of precipitates.

(2) KSp (Solubility product constant) of Ag,CrO, at 25 °C is 1.7 X 10712,
Calculate the solubility of this salt in gram/lit at the same temperature.
M.W. of Ag,CrO, = 332.

OR
(1) What is solubility product ? Explain in detail and derive the formula to
calculate solubility(s) for the type of AB; salt.

(2) Calculate equilibrium constant for the given redox reaction at 25°C

temperature.
Reaction : Sn*2 +2 Ce** &2 Sn** + 2 Ce*?
(Here Ef, 1, s=1.61 Vand E_ 4 ( »=0.15V)

What is redox titration ? Explain any one redox titration with the help of graph in
detail.

OR
Write short note : Formal potential.

Explain with the help of graph for the change of pH in the titration of weak base
against strong acid.
OR
(1) Explain : Factors affecting on exact form of a pH curve in acid-base
titration.
(2)  What is acid-base indicator ? Explain pH limit of an indicator.
Calculate pH in every stage of acid-base titration, when 0.1 M NaOH

is added into 100 ml of 0.1 M CH3COOH at

(i)  Initially (O ml NaOH) (ii) 99.9 ml NaOH and (iii) 100.1 ml NaOH in
aqueous solution Ka(CH3COOH) =178 x 107

(aq) solution
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3. (A
(B)
4. (A)

OR
Calculate pH value in every stage of acid-base titration, when 0.1 M NaOH

(aq)
solution is added into 100 ml of 0.1 M HCI solution at 7
(i) Initially (O ml NaOH) (ii) 50 ml NaOH and (iii) 110 ml NaOH in aqueous
solution.
(1) Explain : Use of EDTA as titrant for determining the hardness of water. 4
(2) Explain : Importance of pH in EDTA titration. 4
OR
(1) Explain in short : The types of EDTA titration. 4
(2) Explain in detail, what should be done to increase selectivity in EDTA
titration. 4
What is precipitation titration ? Explain : Volhard Method. 6
OR
Write a short note on adsorption indicators. 6
Write in short : Types of difficulties arise during gravimetric analysis. 8
OR

Write advantages and disadvantages of the use of organic reagents with the

comparison of in-organic reagent in precipitation process. 8
(B) (1) Explain : Effect of masking agent in selectivity of organic reagents. 3
(2) Explain : The use of DMG (Di-methyl glyoxime) as a precipitating agent. 3
OR
(1) Explain the use of 8-OH quinolin as a precipitating agent. 3
(2)  Write in short : Von-Weimarn proportion. 3
5. Give the answer in short : 14
(1) For which cations cupferon is specific ?
(2) Draw the structural formula of Dithiazon reagent.
(3) Write the formula of KSp of Fe(OH),

“4)
(&)
(6)
(7
8)
(€))

What is Diverse ion effect ?

Draw the structural formula of EDTA.

EDTA is which type of ligand ?

Give the example of sparingly soluble salts.
Give the example of weak acid and weak base.
What is alkalimetry titration ?

(10) What is substitution titration ?
(11) Write only the equation to calculate cell potential at equivalent point in redox

titration.

(12) Calculate the pH value of 0.001 M H,SO, solution.
(13) What will be the pH value for a weak acid (;K, = 4.7447) at neutralization point

in the titration against strong base ?

(14) In which condition, normality and morality of any solution becomes equal ?
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